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3 BT 2| ISP BT SR AT T a1 H IT 20 Gl b (AT ST & |

(iv) T GET 6 W 10 TAT 22 H 26 IF & U AYSTRY © | YD U 3 3D B
2| TP T P SR AT 60 AR A AAH & BT AR |
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Note: (i)  All the 32 questions in both the sections — ‘A’ and ‘B’ are compulsory.

(i) Marks for questions are indicated against each question.

(iii) Question No. 1 to 5 and 17 to 21 are very short answer type questions carrying 1 mark
each. They are required to be answered in one sentence or within 20 words each.

(iv) Question No. 6 to 10 and 22 to 26 are short answer type questions carrying 3 marks
each. Answer to them should not normally exceed 60 words each.

(v)  Question No. 11 to 13 and 27 to 29 are also short answer type questions carrying 4
marks each. Answer to them should not normally exceed 70 words each.

(vi) Question No. 14 to 16 and 30 to 32 are long answer type questions carrying 6 marks
each. Answer to them should not normally exceed 100 words each.

(vii) Answer should be brief and clear to the point and above word limit be adhered to as

far as possible.

(viii) Start from the first question and proceed to the last. Do not waste time over a question,

if you cannot solve it.
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HYug — ‘3’ (Section - A)

HAEHAT B GA9dT DI aRATNT ST | 1
Define scarcity of resources.

SUHTEIT T | a7 Afyrg § ? | 1
What is meant by consumer’s equilibrium ? ,

¥ B HIT DI Al gDIS b BRIl © ? 1
When is the demand for a commaodity said to be unit elastic ?

ST Bed | T AU & ? 1
What is production function ?

Hrd favg @ BT § 7 1
What is price-discrimination ?

b aredl § DA IUTed PN FHARIT U ffRawell B D GAT 8 7 3
In what sense the problem ‘how to produce’ is a central problem of an economy ?

AT G A 9t fRar g 2 3
Why does demand curve slope downwards ?

RIFT J3N IR R a3 § IR HITTY | 3
Differentiate between substitutes and complementory goods.

gt I & ? URIfe g 39 o gaIfad dRal 7 3
What is supply ? How does the technological progress affect it ?

TN Ufaiar o1 a9 faevang sarsy | 3

Write three main features of monopolistic competition.

AT ST &1 ol garsy | AiHid SUAIAT A%l 7 YA PP SUHTE]
A @l o folRad | 4

Write the meaning of marginal utility. State the conditions of consumer’s equilibrium using
marginal utility analysis.

Udh HREH B FAha I 7 AN 8 ? ARAT Biford | 4
What is meant by returns to a factor ? Explain.
H AT AR FHof AT [ R B4 &1 9= da fFuiRa gar g 2 4

How does a firm’s equilibrium determined by the method of Total Revenue (TR) and Total
Cost (TC) ?

31274t (OR)
fforRaa afereT ¥ G gRad arTd 3R 3ivad aRadt arTa sia BT |

From the following table calculate Total Variable Cost and Average Variable Cost.

SUTE g1l (Output Units) : 1 2 3 3

A= @7 (Marginal cost) : 70 60 62 i
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14, AN © T A9 T G9SA & 2 T DY AT ST & 7 ' 6

Define price elasticity of demand. How is it measured ?

15. @l AT, aﬁwmaﬁ?@wmﬁmaﬁmﬂ%ﬁmaﬁﬁwm

Explaln the concepts of total revenue, average revenue and marginal revenue with example.

16. ' Ui & i ®H @Wd wredl 81 2, 3R EIteR § HHa Bk |
WL B | 6

‘Under perfect competition, a firm is a Price-Taker and in monopoly, a Price-Maker.” Explain it.
AYCdT (OR)

FAHRBR BT T L BN T JURGR & g7 Rewanit o amwer
BT |

Clarify the meaning of Oligopoly and explain the characteristic features of Oligopoly.

Yus — ‘g’ (Section - B)

17. &1 & YIS o @ & ? 1
What are the primary functions of money ?

18, g RHEIT § T M § 7 1
What is meant by credit creation ?

19. 99d B R®I1 8 ? 1
What is saving function ?

20. Yof JISHTR &7 UR¥IT BTG | 1
Define Full employment.

21. faceh faffma IoR fd @ed € ? 1
What is foreign exchange market ?

22. Afte Jefeed iR wHfie srefemes # @7 o) § ? 3

Distinguish between microeconomics and macroeconomics.

23. vr@amawa%qeﬂuﬁwaﬂimm <)
Distinguish between national income and domestic income.

24. 91 % f=d) <1 &1 uRaftg iy — 12+12 =3
(1) qISTR BIHT TR Hehel TSR SATG |
(ii) HRD ANTd IR Fhd TS SATS |

(i) ~ PRD AT R g TSR IATE |
Define any two of the following-

(1) Gross National Product at market price.
(ii) Gross National Product at factor cost.
(i) Net National Product at factor cost.
25. AR el 3R YA Fge b gReRa Hifsme | - ] 3

Define Balance of trade and Balance of payment.
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26.

27

28.

29,

30.

[T GEE S W § 9% qeT g qaY (Fewl) & @ st ¥ ? orgw we
@ QI IR QIO | 3

What is meant by visible and invisible components of balance of payment account ? Give two
examples of invisible components.

THIfeh TAT TaTHIfd RIS H 3R 9argy | 4

Differentiate between inflationary and deflationary gaps.
WEHN Fofe ¥ ora Wikl vd goird wikqat # o SR 3R TS @ Al
SHEURCINL 4

Distinguish between revenue receipts and capital receipts in government budget and give two
examples of each.

Tl B AR 3T B R 7 ? AP B &l I&BRVT IIY | 4
What is direct tax and indirect tax ? Give two examples of each.
AT B Il (THIT) YAE B ARRGED qH | 6
Explain in detail the circular flow of income.
dA4T (OR)
frforRae sifeel W ISR 3 &1 TOFT DY —
e % (@3S )
G ol emg 1,200
(i) I FO W& 40
(i) RPN YIS AT § IdA BRI | 40
(v) 9 favg § g SR 12
(v) RGN G fIWET @ Fefy dor STyl 9 ST o 16
vi) RPN faurm & aRared iRy 8
Calculate National income from the following data —
Particulars % (in crore)
(1) Private income 1,200
(i) Interest on National debt 40
(111) Current transfers of government administrative departments 40
(iv) Current transfers from rest of the world 12
(%) Income from property and enterpreneurship accruing to government
administrative department 16
(vi) Operating surplus of government departmental organisations. 8
e o gRI A =T & ford orerRl S arelt fafdw omere fafel @
Heg H St HIfOTY | 6

Describe in brief the various quantitative methods employed by a central bank to control credit.

32, Y Ui @ REREE RERERT @7 SR Bl [IERERT B fquRen | few

yHR g & ? 9SSy | , 6

How is the classical concept of Aggregate supply is different from the Keynes1an concept of
Aggregate supply ? Explain.

sk ok sk ok ok k

412 (ICA) [4]



